40A3 Worksheet video 1 Name

Problem 1: Solve the story problem and then estimate
fo check your answer,

Vince has a savings and checking account at the local
bank. He has $8,378 in savings and $784 in checking.
How much money does he have at the local bank in all
Solve and then estimate to check,

B

Problem 2: Solve the story problem and then estimate
to check your answer.,

Owen has 3 wooden blocks, They are 112
millimeters, 357 millimeters, and 402 millimeters tall,
If he stacks them on tap of each other, how tall will
they be? Solve and then estimate to check. ‘h‘
o

millimeters

Problem 3: Solve the story problem.
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o

Squirrels buried 526 acorns to eat during the winfer.
They ate only 404 of them. How many acorns did the
squirrels leave buried?

acorns

Problem 4: Solve the story problem.

Bill bought a car in 1987. He sold it in 2006.

How many years did he own the car?
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